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ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH  2023. 
Third Year 

BUSINESS LAWS 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 
 

 

1. Free consent 

 

2. Agreements opposed to public policy 

 

3. Contingent contract 

 

4. Guarantee contract 

 

5. Finder of goods 

 

6. National Commission  

 

7. Doctrine of ultra virus 

 

8. Explain the classification of Contract. 

 

9. No Consideration No Contract – Discuss. 

 

10. Describe the various modes of Discharge of Contract. 
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ASSIGNMENT - 2 

B.Com. DEGREE EXAMINATION, MARCH  2023. 
Third Year 

BUSINESS LAWS 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 
 

1.    What are the Rights of the Bailor? 

 

2. Write about Implied Conditions and Implied Warranty. 

 

3. What are the essentials of Valid Contract? 
 

4. What are the remedies available for Breach of contract? 

 

5. Explain the creation of agency. 
 

6. Describe about the Consumer Protection Act. 
 

7. What are the various modes of winding up of a company? 

 

8. Write about the Doctrine of Indoor Management. 
 

_____________ 
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ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

INCOME TAX AND PRACTICAL AUDITING  

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

 
 

1. Objectives of auditing. 

 

2. Vouching and verification. 

 

3. Qualifications of auditors. 

 

4. Audit programme. 

 

5. What do you mean by Continuous Audit?  What are the advantages and 
disadvantages of continuous audit. 

 

6. Define internal check, internal audit and internal control. Explain the advantages 
of internal check systems. 

 

 

7. Discuss the right and duties of a company auditor. 

8. What is an audit report? What are the contents of the audit report? 

 

9. Previous year. 

 

10. Perquisites. 

 

11. Sec 80C 

 80C

12. Annual value. 
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ASSIGNMENT - 2 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

INCOME TAX AND PRACTICAL AUDITING  

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

1. Discuss the residential status of an individual. 

 

2. Explain the provisions relating to set off and carry forward of losses. 

  

3. Mr. Praneeth is an employee in Hindustan Power Corporation Ltd at Hyderabad. 
He gives you the following information for the AY 2020- 21  

 (a) Basic salary 8,000 PM 

 (b) Dearness allowance 6,000 (1,000 PM enters into all retirement benefits) 

 (c) Family allowance 600 PM  

 (d) City compensatory allowance 800 PM 

 (e) Education allowance for 2 children at 350 PM per child 

 (f) Entertainment allowance 750 PM 

 (g) House rent allowance 1,600 PM but he pays 3,000 PM as actual rent 

 (h) Company paid his income tax of 6,420 during the previous year 

 (i) He and  the company each contribute 14% of salary towards the RPF 

 (j) Interest on RPF was 15,000 at 15% p.a 

 (k) He paid 250 pm professional tax  

  Compute his salary income.  

(a) 80,000

(b) 6,000 1,000

(c) 600
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(d) 800

(e)  350

(f) 750

(g) 1,600 3,000

(h) 6,420

(i) 14%

 (j) 15% 15,000  

 (k) 250  

  

4. From the following information compute total income for the A.Y 2020-21 

Salary 90,000 

Dearness Allowance 45,000 

Bonus 8,000 

Received dividend on units 1,800 

Interest on bank deposits 4,000 

He owns a house and received rent 15,000 pm 

He paid municipal taxes 1,000 

He paid LIC premium 2,000 p.a and paid by cheque  5,000 medical insurance  

He earned 20,000 on card games 

He also gained long term capital gain 5,000 
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ASSIGNMENT - 1 
B.Com. DEGREE EXAMINATION, MARCH 2023. 

Third Year  
COST AND MANAGEMENT ACCOUNTING 

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

 

1. Cost Driver 

 

2. Overhead expenses 
 

3. Reordering Level 
 

4. Merrick Differential Piece Rate. 

 

5. Escalation clause. 
 

6. Examples of Fictitious assets of Intangible assets. 
 

7. Quotations – Meaning. 

 

8. Difference between Cost of goods sold and Cost of sales. 
 

9. Explain about Idle Time Cost and overtime cost and indicate the steps you would 
take to control it. 

 

10. Write in brief the Advantages and limitations of Cost Accounting. 
 

11. From the following information, prepare a cost sheet and ascertain profit or loss 
for the month ended 31st Jan. 2021. 
● Direct material ₹ 10,80,000 



  
   

● Direct labour ₹ 9,20,000 

● Direct expenses ₹ 4,00,000 

● Factory on cost is 80% of prime cost 

● Sale value of scrap ₹ 4,000 

● Administration costs is 120% of factory on cost 

● Selling and distribution costs is 10% of sales 

● Sales ₹ 1,00,00,000 

31  2021 

 

●  10,80,000 

●  9,20,000 

●  4,00,000 

●  80%  

●  4,000 

●  120%  

●  10% 

 

●  1,00,00,000 

12. From the following information, prepare a stores ledger on weighted average 

method. 

2022  

Jan. 1 Stock of materials 5640 units @ ₹ 220 each 

5 Purchased 4360 units @ ₹ 224 each 

6 Issued 7500 units 

7 Issued 2200 units 

9 Purchased 5400 units @ ₹ 230 each 

12 Purchased 2300 units @ ₹ 232 each 

15 Purchased 1000 units @ ₹ 235 each 

20 Issued 1850 units 

23 Issued 4000 units 



  
   

 

2022  

 1  5640 220 

5  4360 1 224  

6  7500  

7  2200  

9  5400  1 230  

12  2300  1 232  

15  1000  1 235  

20  1850  

23  4000  
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ASSIGNMENT - 2 
B.Com. DEGREE EXAMINATION, MARCH 2023. 

Third Year  
COST AND MANAGEMENT ACCOUNTING 

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

 

1. From the following information of ABC Company, prepare a common size statement 

and comment on Financial position.  

Balance Sheets of ABC Company 

Liabilities 
2020-2021 

Rs. 

 2021-2022 

Rs. 
Assets 

2020-2021 

Rs. 

 2021-2022 

Rs. 

Equity share 

capital 

80,00,000  85,00,000 Building 75,00,000  90,00,000 

General Reserve 9,40,000  12,00,000 Plant 64,00,000  57,60,000 

P & L A/c. 15,60,000  14,00,000 Motor car 22,00,000  18,70,000 

Secured loans 40,00,000  50,00,000 Goodwill 1,50,000  1,20,000 

Bank OD 18,00,000  – – Stock 4,68,000  4,86,000 

S. creditors 5,00,000  8,90,000 Debtors 3,43,000  3,34,000 

O/s Royalty 3,61,000  7,00,000 Bank 1,00,000  1,20,000 

 1,71,61,000  1,76,90,000  1,71,61,000  1,76,90,000 

ABC  

 
2020-2021 

 

 2021-2022 

 
 

2020-2021 

 

 2021-2022 

 

 
80,00,000  85,00,000  75,00,000  90,00,000 

 9,40,000  12,00,000  64,00,000  57,60,000 

 15,60,000  14,00,000  22,00,000  18,70,000 



  
   

 40,00,000  50,00,000  1,50,000  1,20,000 

 18,00,000  – –  4,68,000  4,86,000 

 5,00,000  8,90,000  3,43,000  3,34,000 

 
3,61,000  7,00,000  1,00,000  1,20,000 

 1,71,61,000  1,76,90,000  1,71,61,000  1,76,90,000 

2. Modern Manufacuturers Ltd. have three production departments P1, P2, P3 and 

two service departments S1 and S2 The details are as under. 

Details P1 P2 P3 S1 S2 

Direct wages ₹ 3000 2000 3000 1500 195 

Value of Machine ₹ 60000 80000 100000 5000 5000 

H.P. of Machines 60 30 50 10 — 

Light points 10 15 20 10 5 

Floor space (sq. ft) 2000 2500 3000 2000 500 

Working hours 3070 4445 2419 — — 

 The following figures extracted from the Accounting records are relevant. Rent a 
Rates 
₹ 5,000; General Lighting ₹ 600; Indirect wages ₹ 11,634; Power ₹ 1,500; 
Depreciation on Machines ₹ 10,000. 

 The expenses of service departments are allocated as under: 

 P1 P2 P3 S1 S2 

Service department S1 20% 30% 40% – 10% 

Service department S2 40% 20% 30% 10% – 

 Find out the total cost of the product which is processed for manufacture in 
Department 
P1, P2 and P3 for 8, 10 and 6 hours respectively. Given that material cost ₹ 150 and 

labour cost ₹ 130. Calculate the cost of a product. 

P1, P2 , P3  

S1  S2  

 P1 P2 P3 S1 S2 

 3000 2000 3000 1500 195 



  
   

 60000 80000 100000 5000 5000 

 (HP) 60 30 50 10 — 

 10 15 20 10 5 

 2000 2500 3000 2000 500 

 3070 4445 2419 — — 

5,000 600 11,634, 1,500

10,000.

 

 P1 P2 P3 S1 S2 

S1 20% 30% 40% – 10% 

S2 40% 20% 30% 10% – 

P1, P2 P3  8, 10 6 

150

130  

3. Calculate the earnings of a worker from the following information under (a) 

Halsey Plan and (b) Rowan Plan. 

 Standard Time 60 hours 

 Time taken 50 hours 

 Hourly rate of wages is ₹ 70 per hour plus a dearness allowance @ ₹ 1 per hour 

worked. 

(a) (b) 

 

60

50  

70 1

 



  
   

4. Gross profit ratio 0.25  

 Gross profit ₹ 4,00,000  

 Stock turnover ratio 8 times 

 Closing stock is ₹ 40,000 more than opening stock 

 Creditors turnover ratio 15 times 

 Debtors turnover ratio    20 times 

 Assume number of days in a year is 360  

 Find 

 (a) Average stock 

 (b) Sales, purchases 

 (c) Average debtors and creditors 

 (d) Working capital turnover ratio 

0.25

4,00,000 

8  

40,000  

15  

20  

 360  

 

 (a)  

 (b)  

 (c)  

 (d)  

5. What do you mean by Financial statement analysis? Explain the objectives and 
importance of Financial statement analysis. 

 

6. Explain the Advantages of Ratio Analysis and its limitations. 

 



   

  

           (DBC34) 
ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

BUSINESS CORRESPONDENCE AND 
REPORT WRITING 

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

 

1. Explain oral communication. 

 

2. Verbal communication. 

 

3. Communication Barriers. 

 

4. Explain the group communication. 

 

5. Organizational communication. 

 

6. Intra personal communication 
 

7. Organisation 
 

8. Report writing 
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9. Explain the verbal and non verbal communication. 
 

10. Compare the features of oral and written communications. 
 

11. Explain in detail about limitations of communications. 
 

12. Explain the factors necessary to make effective of communication process. 
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ASSIGNMENT - 2 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

BUSINESS CORRESPONDENCE AND 
REPORT WRITING 

MAXIMUM : 30 MARKS 
ANSWER ALL QUESTIONS 

 

1.    Discuss the significance of communication in an organisation. 
 

2. What are the facts that affect Interpersonal Communications? 
 

3. What are the requirements to write a perfect report? 
 

4. Explain different types of report. 
 

5. What are the basic principles of report writing? 
 

6. Explain in detail about intra and inter personal communication. 
 

—————— 



   

  

                (DBC35) 
ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH  2023. 
Third Year 

BUSINESS DATA PROCESSING SYSTEMS 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 

 

1. What is File generation? 

File  

2. What is sequential File? 

Sequential File  

3. Differentiate between Sort and Index command. 

Sort Index  

4. Explain character formatting. 

Character  

5. Write a procedure to create a database. 

 

6. What is work book? 

 

7. What is the difference between cut and copy? 

Cut copy  

8. What is the purpose of Windows? 

Windows  

9. Explain Datastorage files and records. 

Datastorage  

10. What are File Access methods? 

File Access 
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ASSIGNMENT – 2 

B.Com. DEGREE EXAMINATION, MARCH  2023. 
Third Year 

BUSINESS DATA PROCESSING SYSTEMS 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 
 

1.    How can you print Graphs? 

 

2. What are options in Format menu? 

Format options  

3. What are the features of word processing? 

Word processing  

4. Explain the meaning and purpose of data processing. 

Data processing  

5. Write a procedure to enter records and retrieve the records from Database. 

enter retrieve  

6. How to modify report formats? Explain with examples. 

format  

7. What are the options in File menu and view menu in MS-Word? 

MS-Word File menu view options  

8. What are the advantages of spread sheet? 

Spread sheet  



  

    (DBC36) 
ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

CORPORATE ACCOUNTING 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 

 

 

1. Significance of Accounting Standards. 

 

2. Need of valuation of shares. 

 

3. Valuation Balance Sheet. 

 

4. Liquidator statement. 

 

5. Holding company. 

 

6. Fair value method. 

 

7. Money at call and at short notice. 

 

8. Revenue Account. 

 

9. ABC company has a share capital of Rs.2,00,000 divided into 10,000 equity shares 
of Rs.10 each and 1,000  6% preference shares of Rs.100 each. The company in its 
general meeting proposed a dividend of 10% on equity shares. The preference 
dividend is yet to be paid. Reserves and surplus are worth Rs.80,000 and other 
liabilities Rs.25,000. The realizable value of tangible assets Rs.3,00,000. Ascertain 
the value of shares. 

ABC 2,00,000 10 10,000 

100 1,000, 6% 
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10% 

80,000 25,000

3,00,000  

10. What are the provisions of law relating to issue of bonus shares? 

11. From the following information calculate the value of goodwill on the basis of 
capitalisation method:  

 Value of non-current and current assets (including goodwill of ₹ 2,20,000) - ₹ 
21,20,000 

 Value of non-current and current liabilities - ₹ 6,20,000 

 Profit before tax for  

 ₹ 
2012-13 4,22,000 
2013-14 4,80,000 
2014-15 5,00,000 
2015-16 4,00,000 

 Income tax rate is 40%, remuneration of manager was to be increased every year 
by 
Rs.25,000. Normal rate of return is 20%. 

₹ 2,20,000

₹ 21,20,000

₹ 6,20,000

 ₹ 
2012-13 4,22,000 
2013-14 4,80,000 
2014-15 5,00,000 
2015-16 4,00,000 

40% 25,000

20

12. Journalise the following transactions at the time of issue and redemption of 
debentures. 

 (a) A company issued ₹ 1,00,000 13% Debentures at a discount of 10% 
redeemable at par. 
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 (b) A company issues ₹ 1,00,000 13% Debentures at par redeemable at 10% 
premium. 

 (c) A company issued ₹ 1,00,000 13% Debentures at a discount of 10% and 
redeemable at 5% premium. 

  The face value of debentures is ₹ 100. 

 

 (a) 1,00,000 13% 10% 

 

 (b) 1,00,000 13%  10% 

 

 (c) 1,00,000 13% 5% 

10% 100  
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(DBC36) 
ASSIGNMENT - 2 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

CORPORATE ACCOUNTING 
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 

 

1. The Balance Sheets of ‘H’ Ltd. and its subsidiary ‘S’ Ltd. as on 31st March 2015 were 
as follows: 

Liabilities H Ltd  S Ltd  Assets H Ltd  S Ltd 

 Rs.  Rs.   Rs.  Rs. 

Share capital      Fixed assets 75,00,000  54,00,000 

(Each share ₹ 100) 80,00,000  30,00,000  Goodwill 3,00,000  1,00,000 

General Reserve 8,00,000  5,00,000  Investments:     

Profit and Loss A/c. 7,00,000  2,00,000  
18,000 shares in S 
Ltd. 

18,00,000  — 

10% Debentures —       15,00,000  Stock 1,20,000  1,00,000 

Creditors 3,15,000  4,75,000  Debtors 70,000  60,000 

     Cash 25,000  15,000 

 98,15,000  56,75,000   98,15,000  56,75,000 

 ‘H’ Ltd. purchased 18,000 equity shares in ‘S’ Ltd. for ₹ 18,00,000 on 30th June 
2014. 
Then ‘S’ Ltd has General Reserve ₹ 3,00,000 and profit and loss account shows ₹ 
1,00,000 profit. Prepare a consolidated Balance Sheet of ‘H’ Ltd. and ‘S’ Ltd. as on 
31st March 2015. 

31 2015 ‘H’ ‘S’ 

31 2015 

 
H 

  S    
H 

  S  

         

      75,00,000  54,00,000 

( 1 ₹ 100) 80,00,000  30,00,000   3,00,000  1,00,000 

 8,00,000  5,00,000      

 7,00,000  2,00,000  
18,000  S Ltd. 

 
18,00,000  — 
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10%  —       15,00,000   1,20,000  1,00,000 

 3,15,000  4,75,000   70,000  60,000 

      25,000  15,000 

 98,15,000  56,75,000   98,15,000  56,75,000 

‘H’ ‘S’ 18,000 

30-06-2014 18,00,000. ‘S’ 

Ltd. 3,00,000.

1,00,000. 

2. Give an account of Indian accounting standards. 

 

3. From the following information prepare profit and loss account of a bank for the 
year ended 31 March 2012. 

 Rs. 
Interest on loans 6,00,000 
Interest on fixed deposit 5,50,000 
Commission 20,000 
Salaries and allowances 3,00,000 
Exchange and brokerage 40,000 
Taxes and insurance 20,000 
Interest or overdraft 60,000 
Rent 30,000 
Director’s fees 60,000 
Interest on cash credit 4,80,000 
Interest on savings deposit 1,74,000 
Postage and telegrams 20,000 
Sundry expenses 20,000 
Discount on bills 3,04,000 
Stationery and printing 40,000 
Audit fees 20,000 

 Additional information: 
 (a) Rebate on bills discounted Rs.15,000. 
 (b) Bad debts Rs.20,000. 
 (c) Income tax provision 55%. 
 (d) 10% dividend (on capital Rs.10,00,000) 

31 2012
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 6,00,000 

 5,50,000 

 20,000 

 3,00,000 

 40,000 

 20,000 

 60,000 

 30,000 

 60,000 

 4,80,000 

 1,74,000 

 20,000 

 20,000 

 3,04,000 

 40,000 

 20,000 

 

 (a) 15,000. 

 (b) 20,000. 

 (c) 55%. 

 (d) 10%  (10,00,000 ) 

4. A life insurance company disclosed a fund of Rs.2,00,000 and the Balance Sheet 
total Rs.45,00,000 on 31st December, 2019 before taking the following into 
consideration. 

 (a) A claim of Rs.10,000 was intimated and admitted but not paid during the 
year. 

 (b) A claim of Rs.6,000 outstanding in the books for 8 years in written back. 

 (c) Interest on securities accrued Rs.800 but not received during year. 

 (d) Rent of own building occupied Rs.2,000. 

 (e) Premium of Rs.600 is payable under re-insurance. 

 (f) Re-insurance recoveries Rs.26,000. 

 (g) Bonus utilized in reduction of premium Rs.10,000. 
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  Pass necessary journal entries for the above omissions and show the balance 
sheet total after making the above statement. 

31.12.2019 

2,00,000 45,00,000  

 (a) 10,000 

 

 (b) 8 6,000  

 (c) 800  

 (d) 2,000. 

 (e) 600  

 (f) 26,000. 

 (g) 10,000. 

  

 

5. Briefly describe about profit prior to incorporation. 

 

6. What is meant by liquidation? Explain the modes of winding up of a company. 

 

———————— 



  

  

    (DBC37) 
ASSIGNMENT - 1 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

ADVANCED MANAGEMENT ACCOUNTING  
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 
 

 

1. Meaning of (MIS) Management Information System. 

 

2. Elements of Budget Manual. 

 

3. Examples of cash inflows from Financing activities. 

 

4. Margin of safety. 

 

5. Standard costing – meaning. 

 

6. Internal Rate of Return. 

(IRR) 

7. Meaning of Management Accounting. 

 

8. Formula of Acid Test Ratio. 

 

9. Explain the characteristics of Management Accounting. 

 

10. Write in brief about Fixed budget and Flexible budget. 

 

11. A plant at 60% capacity utilisation, producing 4800 units costs incurred of 
following: 

 Rs. (per unit) 
Direct material 350  
Direct labour 340  
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Variable overheads 80  
Administration OH 210 (40% fixed) 
Selling and distribution OH 100  (60% fixed) 

 Prepare a cost budget for production at 90% capacity utilisation of plant. 

 
   

 350  

 340  

 80  

 210 (40% ) 

 100  (60% ) 

 

12. For a project ‘x ’ initial outlay required is Rs.30,00,000. The life period of the 
project is 5 years after 5 years its salvage value is Rs.50,000. Expected profits after 
tax and depreciation are as under. In the initial year working capital required was 
Rs.2,00,000. 

Year 
Profits after tax 

Rs. 
1 8,30,000 
2 9,20,000 
3 12,50,000 
4 11,40,000 
5 8,60,000 

 PV of 1 Re. at discount factor 10% is 0.909, 0.826, 0.751, 0.683, 0.620. 
 Calculate NPV of the project. 

  ‘x ’ 30,00,000

50,000

2,00,000  

  

1  8,30,000  
2  9,20,000  
3  12,50,000  
4  11,40,000  
5  8,60,000  

 10 1 0.909, 0.826, 0.751, 0.683, 0.620. 
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(DBC37) 
ASSIGNMENT - 2 

B.Com. DEGREE EXAMINATION, MARCH 2023. 
Third Year 

ADVANCED MANAGEMENT ACCOUNTING  
MAXIMUM : 30 MARKS 

ANSWER ALL QUESTIONS 
 

1. From the following balance sheets of Moon Ltd. as on 31.3.2021 and 31.3.2022. 
Prepare a cash flow statement as per AS3.  

Liabilities 
31.3.2021 

Rs. 
 31.3.2022 

Rs. Assets 
2017-
2018 
Rs. 

 2018-
2019 
Rs. 

Equity share 
capital 

50,00,000  55,00,000 Plant 16,12,000  21,45,000 

General reserve 7,44,000  8,00,000 Furniture 77,000  1,05,000 

P & L A/c. 2,96,000  2,80,000 Goodwill 10,000  7,500 

Secured loans 9,70,000  7,70,000 Investments 3,00,000  2,50,000 

Creditors 20,00,000  10,00,000 Stock 3,20,000  2,00,000 

    Debtors 72,000  82,000 

    Bank 15,000  17,000 

 24,06,500  28,06,500  24,06,500  28,06,500 

 Adjustment: Plant costing to Rs.1,50,000 (accumulated depreciation thereon 
1,20,000) 
was sold for Rs.25,000. 

 31, 2021 2022  

AS3  

 
31.3.2021 

  
31.3.2022 

 
 

2017-
2018 

 
 

2018-
2019 

 

 
50,00,000  55,00,000  16,12,000  21,45,000 

 7,44,000  8,00,000  77,000  1,05,000 

 2,96,000  2,80,000  10,000  7,500 

 9,70,000  7,70,000  3,00,000  2,50,000 
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 20,00,000  10,00,000  3,20,000  2,00,000 

     72,000  82,000 

     15,000  17,000 

 24,06,500  28,06,500  24,06,500  28,06,500 

  

 1,50,000 1,20,000

25,000  

2. From the following information, calculate (a) Contribution, (b) Fixed cost, (c) P/V 
ratio, 
(d) BEP and (e) Margin of safety. 

Year Sales 
(Rs.) 

Net profit 
(% on sales) 

2020-2021 50,00,000 25% 
2021-2022 75,00,000 28% 

 (a) (b) (c) P/V (d) BEP 

(b) (MOS)  

 
 

 

 

2020-2021 50,00,000 25% 
2021-2022 75,00,000 28% 

3. From the following information. Calculate : (a) DMPV, (b) DMUV and (c) DMCV. 

Product 
Standard Actual 

Quantity 
kg. 

Rate per kg. 
Rs. 

Quantity 
kg. 

Rate per kg. 
Rs. 

P 1580 150 1600 140 
Q 1720 170 1650 180 
R 1400 162 1420 160 
S 1000 100   950   90 

 (a)  (b)   (c) 

 

 

  

 1   1  

P 1580 150 1600 140 

Q 1720 170 1650 180 

R 1400 162 1420 160 

S 1000 100   950   90 
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4. Explain the meaning of zero based budgeting and state the advantages. 

 

5. Enunciate the significance of cash flow statement. 

 

6. Explain about overhead variances. 

 
 (a) Variable overhead variance. (b) Fixed overhead variance. 

 
 (c) Expenditure overhead variance. (d) Volume variance 

 

———————— 


